R7C.9. 1 HiE Sy AHEEADSE Pt B

JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
¥ 46, 704| 109, 429] 53,510] 55,919 24 55 -36 54 ool  -19] 395] 414 0 138 138
HI—TH 674 1,419 693 726 -3 —4 -2 0 2 0 2 2 -2 0 2
FL T H 552|l 1,311 656 655 -1 -5 0 0 0 1 2 1 -6 0 6
LI =TH 456 1,021 492 529 0 2 0 0 0 2 3 1 0 2 2
SulAE 1,6820 3,751 1,841 1,910 —4 -7 -2 0 2 3 7 4 -8 2 10
Sk —TH 490/ 1,018 483 535 -2 -6 -2 0 2 —4 4 8 0 0 0
. = 762 1,824 886 938 1 2 -3 0 3 4 6 2 1 1 0
SR —TH 548 1,307 633 674 0 -3 1 1 0 -7 2 9 3 3 0
S AT H 373 908 440 468 1 -5 -1 0 1 0 1 1 —4 0 4
Sk BT H 569 1,267 619 648 -1 -2 2 2 0 -3 3 6 -1 0 1
BN T B 222 483 229 254 3 0 0 0 0 -2 1 3 2 2 0
ARt TH 645 1,662 829 833 1 3 0 1 1 1 5 4 2 2 0
oA\ T H 395 902 450 452 1 1 -2 0 2 0 1 1 3 4 1
IV B 592 1,441 725 716 1 0 0 1 1 0 1 1 0 1 1
B naatl 4,596 10,812 5,294 5,518 5| =10 -5 5 o0 -11 24 35 6 13 7
e n—1H 339 804 404 400 -3 -12 1 1 of  -10 1 11 -3 0 3
e T H 942|l 2,032 993 1,039 2 -2 -3 1 4 -3 8 11 4 5 1
HHk o —TH 677|l 1,451 708 743 3 -1 -1 0 1 0 3 3 0 0 0
Wk A5 1,958 4,287 2,105] 2,182 2| -15 -3 2 51 -13 12 25 1 5 4
Mt A — T H 577|L 1,256 621 635 -1 -3 -2 0 2 -1 2 3 0 0 0
A T H 370 925 479 446 0 3 0 0 0 -3 0 3 6 8 2
Mk R =TH 246 545 270 275 -1 0 0 0 0 0 1 1 0 0 0
ik L G| 527l 1,307 670 637 -1 -2 -1 0 1 -1 2 3 0 2 2
msEr aaEtl 1, 7200 4,033] 2,040 1,993 -3 -2 -3 0 3 -5 5 10 6 10 4
TEIT) 353 970 426 544 2 -8 -2 0 2 -3 4 7 -3 1 4
HOEEN— T H 156 385 180 205 1 1 -1 0 1 2 2 0 0 0 0
HOEE T H 416 995 471 524 -2 -2 0 1 1 4 6 2 -6 0 6
HoEEI =T H 677 1,726 835 891 1 -2 -2 1 3 0 0 0 0 1
HOEEAN T H 723l 1,816 888 928 5 19 1 3 2 5 6 1 13 18 5
HEROH T H 406 979 492 487 0 -3 -2 0 2 -2 2 4 1 1 0
HOEEIS T H 390 938 458 480 -1 —4 -1 0 1 1 1 0 —4 0 4
HoEEOETH 637 1,447 707 740 1 0 -1 0 1 0 8 8 1 4 3
HOEEHOSE 3,405 8,286 4,031| 4,255 5 9 -6 5 11 10 25 15 5 24 19
PEEER 1,479 2,970 1,391 1,579 0 -3 -2 1 3 1 7 6 -2 1 3
FHIAR 325 696 348 348 -3 -5 -1 0 1 —4 1 5 0 0 0
R e — T F 460 985 479 506 5 11 -3 0 3 6 9 3 8 11 3
EE g — T 228 487 249 238 -2 -3 -1 0 1 -1 0 1 -1 0 1
R = T 490l 1,137 571 566 -2 -3 -2 0 2 -1 3 4 0 1 1
TEE Py T 596| 1,261 597 664 5 8 1 1 0 7 7 0 0 2 2
EEP g R T H 202 527 254 273 0 2 -1 0 1 2 2 0 1 1 0
EER A2 1,976 4,397|  2,150] 2,247 6 15 -6 1 7 13 21 8 8 15 7
B RHT— T H 667|l 1,394 655 739 -1 1 1 2 1 -1 3 4 1 1 0
EEIARRT T H 697l 1,396 668 728 2 0 0 1 1 1 6 5 -1 3 4
EEOARRTAE 1,364 2,790 1,323 1,467 1 1 1 3 2 0 9 9 0 4 4
RPN 315 862 484 378 0 -3 -3 0 3 0 0 0 0 0 0
HHPR—TH 708/ 1,704 849 855 0 -1 1 1 0 -1 0 1 -1 0 1
HOOR T H| 1,616/ 3,822 1,872] 1,950 1 -2 3 6 3 8 28 20l -13 2 15
WHR=TH 826l 2,180] 1,064 1,116 2 6 -2 1 3 1 3 2 7 11 4
HHRIT H 490/ 1,207 578 629 -2 0 -1 1 2 1 4 3 0 0 0
HPREEH 3,640 8,913| 4,363 4,550 1 3 1 9 8 9 35 26 -7 13 20
HiR—TH 641 1,561 765 796 0 2 1 1 0 —4 2 6 5 5 0
LR - TH 871l 2,168| 1,068 1,100 11 3 0 0 0 0 12 12 3 5 2
PR =TH 440 951 496 455 2 -1 -1 1 2 1 2 1 -1 1 2
JbdRAEF 1,952 4,680 2,329] 2,351 13 4 0 2 2 -3 16 19 7 11 4
T IROBTHT 320 803 382 421 1 1 1 1 0 0 2 2 0 0 0
el 1,591 4,937] 2,261 2,676 0 -8 —4 0 4 -3 7 10 -1 0 1
MAE—TH 775 1,837 910 927 1 2 0 1 1 1 4 3 1 1 0




R7C.9. 1 HiE Sy AHEEADSE Pt B
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE 1T H 699 1,857 945 912 2 0 0 1 1 0 3 3 0 3 3
MoE =1 H 633 1,566 779 787 3 1 -1 0 1 3 11 8 -1 0 1
A EN T H 893 2,189| 1,068 1,121 1 0 0 2 2 -2 3 5 2 2 0
RCENNE 583 1,400 681 719 0 -1 1 1 0 -2 3 5 0 0 0
MAESTH 411 1,022 490 532 1 0 0 0 0 0 1 1 0 0 0
M EaE 3,994 9,871 4,873| 4,998 8 2 0 5 5 0 25 25 2 6 4
VEPIe S 516/ 1,127 562 565 0 -9 -6 0 6 2 4 2 -5 0 5
e —TH 319 693 338 355 0 -2 -1 0 1 0 1 1 -1 0 1
i — T H 582l 1,355 658 697 0 5 1 1 0 4 9 5 0 0 0
A gl 901l 2,048 996| 1,052 0 3 0 1 1 4 10 6 -1 0 1
E— 1 H 315 703 356 347 201 23 0 0 of -22 73 95 -1 2 3
B — T H 635 1,361 648 713 -2 -3 -1 0 1 -3 2 5 1 2 1
=T H 404 1,027 517 510 1 1 0 0 0 1 2 1 0 0 0
EAE| 1,354 3,091 1,521] 1,570  —21  -25 -1 0 i  -24 77 101 0 4 4
e —TH 3771 1,010 479 531 1 -2 -3 0 3 2 2 0 -1 0 1
HYE T H 425 1,078 539 539 0 -3 0 0 0 0 2 2 -3 0 3
HHE T H 754/ 1,911 963 948 4 1 0 0 0 —6 1 7 7 7 0
W& T B 4591 1,074 510 564 -2 0 -2 0 2 2 4 2 0 0 0
B E ] H 724/ 1,655 817 838 -6  -10 -1 2 3 —4 2 6 -5 0 5
HHIENT H 218 470 244 226 0 -3 0 0 0 -1 1 2 -2 1 3
HEOE 2,957 7,198 3,552 3,646 -3| 17 -6 2 8 -7 12 19 -4 8 12
<HWE—TH 605[ 1,424 702 722 -1 -1 0 1 1 0 7 7 -1 3 4
<HEIL—TH 701 1,525 748 777 -2 -5 0 1 1 -5 2 7 0 0 0
SHBEIL=TH 503l 1,156 567 589 1 5 -1 0 1 4 5 1 2 2 0
<HEWLPTH 508[ 1,120 565 555 —4 —6 0 1 1 —4 2 6 -2 1 3
<O T H 345 759 419 340 -2 -5 0 0 0 -5 1 6 0 0 0
<MEEEH 2,662 5,984 3,001 2,983 -8 -12 -1 3 4 -10 17 27 -1 6 7
WIE AR —TH 786 1,705 850 855 —4 -7 1 1 0 -7 13 -1 0 1
WIEAR T H 458[ 1,122 565 557 4 9 1 2 1 5 2 3 3 0
PIEARTSE 1,244]  2,827| 1,415 1,412 0 2 2 3 1 -2 13 15 2 3 1
s 437 842 415 427 -1 -3 0 0 0 -1 5 6 -2 0 2
ek —TH|[ 1,014 1,685 742 943 3 1 1 1 0 6 14 8 —6 1 7
e T H 406 683 320 363 1 1 1 0 4 8 4 -1 0 1
kR =T H 630/ 1,695 793 902 1 1 1 0 -1 2 3 0 0 0
sk BRI H 399 851 415 436 2 1 1 0 1 4 3 3 5 2
o aaE |l 2,449 4,914| 2,270] 2,644 7 10 4 4 0 10 28 18 —4 6 10
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 777 1,830 898 932 0 -2 2 3 1 0 1 1 -4 0 4
VEEE 282 675 326 349 5 7 0 0 0 2 4 2 5 5 0
e — T H 408] 1,083 551 532 0 0 0 0 0 0 0 0 0 0 0
e T H 390 918 450 468 -2 2 3 3 0 0 1 1 -1 0 1
oo B R 798  2,001| 1,001 1,000 -2 2 3 3 0 0 1 1 -1 0 1
P — T H 616| 1,331 666 665 3 6 0 0 0 5 8 3 1 1 0
P T H 504 1,223 582 641 3 0 0 0 0 0 3 3 0 0 0
WEEEm A a1, 120 2,554 1,248| 1,306 6 6 0 0 0 5 11 6 1 1 0
P e 289 669 334 335 4 8 1 1 0 7 8 1 0 0 0
BEHIR 228 552 297 255 3 1 0 0 0 1 4 3 0 0 0




